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(1) REIRE
ReEREERR 1 1 0
FEE G PES R 1 1 0
THEE 291 271 20
ERBZREH 290 270 20
= EN = g e 1 1 0
FEINLE 301,472 292,316 9,156
A FER 275,201 265,311 9,890
PRI 13,910 14,250 A 340
= B AR 1 1 0
WHE SRR 2 2 0
FOMIZFEE R 11,558 11,952 A 394
/N L - A 800 800 0
ZWEE 1 1 0
U4 1 1 0
HEI LS 11 11 0
= BURILE. 10 10 0
MEU A 1 1 0
BN S 301,776 292,600 9,176
(2) BEER
RS EELE 292,960 282,459 10,501
Ry S 27,000 25,400 1,600
Fifh PR 2 5 4 29,700 21,150 8,550
IR 2,950 2,500 450
ERIEAE 10,450 8,430 2,020
V(S-S iE 3,800 1,390 2,410
T 1E 4,100 3,540 560
AT B FN 10,400 10,530 A 130
VHREA T 2501 h 5,400 5,400 0
VHFE R 1,200 1,200 0
EfEE 1,650 1,650 0
FI | A 2 2,560 2,560 0
kL 122 122 0
SOk k2 2,922 2,802 120
PRIgsk 3,100 3,060 40
B 126,400 126,179 221
= A oL 3,680 3,680 0
BB 3,410 3,250 160
FABLA TR 28,740 28,740 0
Rt 25,300 30,800 A 5,500
M 76 76 0
HWE-FHEELE 39,757 38,348 1,409
R Y 4,240 4,000 240
Fifh PR P2 5 4 5,810 4,651 1,159
TE IR A 1,700 1,320 380
EaT ey 500 450 50




HEFH TR TR B
Bz 5,392 6,218 A 826
1 230 230 0
VHREM 25 0m L 2 1 1 0
HEEL 100 100 0
FI1 i LA 2 11,670 11,500 170
HEKE 94 94 0
EER 120 120 0
LBk 1 1 0
ko 1,920 1,460 460
REE 200 200 0
& e 100 100 0
BhkiE B 1,200 1,200 0
7N R R AR i 940 940 0
CLES Ry 4,903 5,203 A 300
X ERE 436 360 76
MET 200 200 0
ik - Oackin 332,717 320,807 11,910
S 4R 25 A R B 2 B B A 30,941 A 28,207 A 2,734
B RS 0 0 0
IR B A 30,941 A 28,207 A 2,734
2 REIHEBDOH
(1) RESINI 0 0 0
BN 0 0 0
(2) RENER 0 0 0
RENE R 0 0 0
LR AR 0 0 0
S EHERE 1,219 1,239 A 20
W — ISR EE R AR A 29,722 A 26,968 A 2,754
— R ERMEHNERS 717,825 697,751 20,074
— R ERMEHEES 688,103 670,783 17,320
I #EEIEBRM EERIRDE 0 0 0
I ERMESERES 688,103 670,783 17,320




